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Sup. 6: Revenue, Cost, Profit

Story: You own a cupcake business.

- You charge $1.50 per cupcake.
- Each day, your rent/utilities are
$120 and your salaries for
employees are $180.
- It costs you $0.50 to produce
- each cupcake.

We will answer the questions:
a) How many cupcakes should you
produce and sell to “break even”?

b) How many should you produce
and sell to make a profit of $1007?

Key Concepts we will introduce:
1. Total Revenue (TR)

2. Total Costs (TC)

3. Fixed Costs (FC)

4. Variable Costs (VC)



Note:

We will use g, or x, for the number of 2. Total Cost (TC)

items produce or sold (quantity).

1. Total Revenue (TR)

total amount of money you
receive from selling g items
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TR(q) = (Price/item)*(items sold)

FC = Fixed Costs

VC(q) = (Cost/item)*(items made) = production cost for g items
TC(q) =FC+VC(q)

P(q) = Profit to make/sell g items = TR(q) — TC(q)

= Vert. gap between TR & TC




Supp. 7: Marginal Revenue, Q: In the cupcake scenario, what is

Marg. Cost, Marg. Profit the MR, MC, and MP at q =400
items?
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Observation:
If MR(q) > MC(q), then MP(q) is positive and profit will go up if
we sell one more item.

If MR(q) < MC(q), then MP(q) is negative and profit will go down
if we sell one more item.
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Translating MR/MC to
Graphs/Notation:

MR(q) = TR(q + 1)- TR(gq) = "change in height on TR"
~ TR(q + 1)- TR(q)

(g+1)—(q)

= "slope of secant to TR"

MC(q) = TC(qg+ 1)- TC(qg) = "change in height on TC"
_TC(q+1)-TC(q)

= "slope of secant to TC"

(g+1)—(q)
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Computation Exercises: 2.

Use lines and slopes to estimate:
1. What is marginal cost at 6
hundred Blinkos?
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Suppose we sell Blinkos at a price
of $2.00 per Blinko.
1. Draw the TR graph
2. How many quantities should
you sell in order to maximize

profit?
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Max Profit Methods Summarized

Method 1: Largest Gap
Find the largest vertical gap when
TR is above TC.

Pro = quick

Con = hard to be accurate

Method 2: Match Slopes

Find where TR and TC have the
same tangent slopes. Best way if
given TR and TC graphs!

Method 3: MR = MC
Find where it switches from
MR > MCto MR < MC
Note: MR>MC->profit increasing
MR<MC->profit decreasing
Pro = precise (algebra)
Con = need MR/MC formulas



Sup. 6-7 HW / Problem 2 Hints:
Do you know how to answer these...

(a) What is TC(38) and VC(38)?
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(b) How would you estimate MC at
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Sup. 6-7 HW / Problem 3 Hints:

Do you know how to answer these...
(a) What is the functional notation
for the MC(q)? (Note: g isin

thousands of items!)

Tee( c().aro,ooﬁ - ’mcq)j

0.00 | K_'\_gm«a]imﬁ

(b) How would you compute

marginal revenue at 5 thousand

items?
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(c) If it costs $0.50 to produce
every item and the fixed costs
are S4000, then what is

maximum profit?
D’W’i’v-‘ﬁ TC }.

Slbf’t —-— O‘IS':Q

b{%wggﬁ’ Ve §6P ( AT S Lamﬂ)
ocevns  tnown g = A Huged ey

S
i



